Model Prediction (G3-17)
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G3-17: ['LfA", 'peakTgtLAl']
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G3-17 (plot by DAT)

1
o
L ? -
LY e e
..I* rlﬂ r._ _I‘
L 1
R
2 T S B
10 ..4 _|* _ 1
e ) ...* ' o _I4 I-‘
o I I
‘9 _|4 ..|ﬂ|0 ...ﬂ.‘ rﬂ “
L L -9 -—-0
HUEE S T
‘-9 -9 | ! |
1 I f. -|. | |
Iﬂ Iﬂ _.. _l.“ 1
o, 1, T Tt
" o Le b
- Y I
f T e,
9 _u. |‘ 1
* I 1 1
-9 -@ 1 1
1 1 _.II._
_.|0 _|.£ I----9
e
........................ £ IR —
_IM.rIWMI.mII..
1 ]
1 _..hL
1 | <
e <
|
"
“ 2
| k=
I 2
“ IIIII ‘ m
& ¢ & & & °

Buippng a1y sAeqg

60 80
Days After Transplant

40

20



Days After Budding

G3-17 TsN1 (plot by DAT)
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Days After Budding

G3-17 TsN2 (plot by DAT)
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Days After Budding

G3-17 TsN3 (plot by DAT)
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Days After Budding

G3-17 TsN4 (plot by DAT)
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Days After Budding

G3-17 TsN5 (plot by DAT)
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Days After Budding

G3-17 TsN6 (plot by DAT)
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G3-17 (plot by adjDAT)
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Days After Budding

G3-17 TsN1 (plot by adjDAT)
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Days After Budding

G3-17 TsN2 (plot by adjDAT)
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Days After Budding

G3-17 TsN3 (plot by adjDAT)
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Days After Budding

G3-17 TsN4 (plot by adjDAT)
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Days After Budding

G3-17 TsN5 (plot by adjDAT)

T
I
|
50{ |
: f_:::'{-;T
1 |
: _.""_‘ _____ tl:'arvest
404 1 P
: ——® Turn Color
I I-——@®
I
. e
301 ——--4
I I
I --@
| -6
I ——
20 A I D S
I
| Y
I
I r—-@
| e
10 + 1 |
! e ° Fruit Set
1 |
: | Anthesis
0 : ¢
I
: Budding
1
40 50 60 70 80 90

Days After Transplant




Days After Budding

G3-17 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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